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@ V5-V2< 5 © 4-V5>3- 6
©® V5-V2<+V5-1

ONQ) @ 0,0 ® 0,6
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@ V- V2- V5=-v2<0

2 V5—V2< 5

©4-V5-3-V6)=1-V5+ V6= V6-V5+1>0
4-V5>3-6

® Vo-V2-(V5-1)=-V2+1<0

LVBE-V2< 51
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5. V3(3- V3)+ V75 2 ttks] ohu?

© 5V3-3 @ 6v3-2 ® 7v3-2
@ 7vV3-3 @8\/3_3

3vV3-3+5v3=8v3-3
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8. 3-n ol A47} HEE sH= A4 g o) A4S Fatelet

38-n=36=>n=2
38 -n=25=>n=13
38 -—n=16 =>n=22
8 -—-n=9=>n=29
8-n=4=n=34
38-n=1=n=37
38-n=0=n=38
webA] n =7 7ol
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A9 Dol ok
= V3x4+ V2T x4+ (V3 + V27) x4

=4V3+4V27 + 43+ 427
=8V3+12V3+ 123
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@—261—3 @ -2a+3 ® -3
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~&B

3<a<0¥ W, a<0°]3 a+3>0 0]t
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—a—(a+3)
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® 4

4<V23<50B2 a=23-4
a+4= 23 9 FHE AFsHE
a® +8a+ 16 = 23
a>+8i=7
ala+8)-T=a?>+8a-7=0




14. {xl300<x<600 xE A5} o tiske] V3x vx 7F o] a7t H =

= St= A5 x o HFE FohH?
D)5 7 @ 5274 ® 10074
@ 10174 ® 301 74

VEx yE = V3x 7 0] A% 1), 3y £ AEL7} Holof sl
o ), x = 3k3(k £ 24A%) o]},
300 < 3k% < 600 & 100 < k2 < 200
k2 =102, 112, 122, 132, 142
x 0] A4 5 7
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1.45
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1,46

1.48
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1.50

1,51

1,52

1.52

1.52

1.53

1,53

5
2.0
2.1 11,44
2.2
2.3
2.4

1.54

1.55

1.55

1.55

1.56

1.56

® 5.93 @ 7.56

® 7.50

@7.40

® 6.19

V55 = V2.2%x 25 = 5v2.2 = 5 x 1.48 = 7.40




